EJERCICIO ARQUITECTO/A TECNICO/A
MEJORA DE EMPLEO

PREGUNTAS | RESPUESTAS
1 d

O (N|/OO LB W|IN
Ol |T|o|lv|o|T|alv

=
o

[EEN
=
Q.

[
N

ANULADA

[
w
(@}

=
S

[
(%)

[
[e)]

[
~N

[
oo

[
X}

N
o

N
[

N
N

N
w

N
N

N
(0]

N
(e)]

N
(0]

N
Y]

w
o

w
=

w
N

w
w

w
D

w
U

w
(e)]

w
~N

w
(0]

w
Y]

iy
o

IS
=

N
~N
O |T|Qjo|Qajlo|lv || T|o|T|wjola|jlo|jo | T|(T|o | |T(QlTC|o|o(alo | |T

o
N

o
w

o
ANULADA

o
o




PREGUNTAS | RESPUESTAS

45

46

47

48

49

50
51

52

53

54
55

56
57
58
59
60
61

62

63

64
65

66

67

68
69
70
71

72

73

74
75




